O WAl o] 5 24

A2 AL o AJY7L?
104 +1.3
O 24+0.3 @ 72+09
@ 19.2+24

@ 84+1.2
® 4806







3. the Aol PAAOE ure 21 ol RelX] 1AL,

4.1)16.7
16 4
3

O 41x4+4+3=16.7 @ 41x3+4=16.7
® 41x4+4+03=16.7 @ 4.1%x3+40.03=16.7

® 41x04+0.3=16.7



@ 46 7H

@ 477W

@ 48 7Y

@ 497}

® 5070



o2 & 50 10 Eot & A2 o= AY{Y7

D 20.3+2.9 @ 3.44+0.43 ® 17.29+1.9

@ 2.754 +0.27 ® 20=25
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-
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2H H|o| L7} 6.35m, WZHA HO| 7} 12.5m Y5UTh o] AL
2471 0.8m A Zeh Lol FFUTh Uire] a1 E-2 A glo] Lo

Zolo] e @ melA FohAlL.

SEE w



9. a9 Zrol 1 HEk 22 AL oL AYUA?

D 3.458 + A = 2.66 @ 6744+ A =562
@ 3834+A=426 @ 25568 + A = 7.52

® 575+A =125



10.

=9°] 0.756 m3 72| 5017t E50 1 B 414 B0l e+ $=7t
AZAE o] 911, v 1 Ho] 1.3L4A Eo] wx Urts o]
Ad&Uth E5) B& w7 AFSte] Eo] 7HE A= dle 2 AL
2 Hol] A A5U71?



